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PUZZLE 01 

A certain number of persons from the same family of three generations sit in a 

linear row facing the north directions. Information about only a few of them is 

known. 

Only four persons sit between N and O, who is the child of J and is not married. 

N sits second from one of the extreme ends. I sits adjacent to N, who is the only 

son of B. The one who is the wife of B is the only daughter of J, who has only 

two children. Only three persons sit between H and O. The number of persons 

sitting between the one who is the brother-in-law of O and H is one more than 

the number of persons sitting between I and L, who sits immediate right of H. B 

is the child of L and doesn’t have any siblings. The one who is the husband of L 

sits fourth to the left of the one who is the son-in-law of J and sits at one of the 

extreme ends. A sits sixth to the left of T and is the brother of H. Only one person 

sits between T and the one who is the father of N. T is the daughter-in-law of B. 

A is the father-in-law of I. As many persons sit to the left of A as to the right of 

J. 

तीन पीढ़िय ों के एक ही परिवाि के कुछ व्यक्ति उत्ति ढिशा के समु्मख एक िैक्तखक पोंक्ति में बैठे 

हैं। उनमें से केवल कुछ के बािे में जानकािी ज्ञात है। N औि O के बीच केवल चाि व्यक्ति बैठते 

हैं, O ज  J का बच्चा है औि ढववाढहत नही ों है। N एक छ ि से िूसिे स्थान पि बैठता है। I, N के 

बगल में बैठता है, ज  B का इकलौता बेटा है। ज  B की पत्नी है वह J की इकलौती बेटी है, ढजसके 

केवल ि  बचे्च हैं। H औि O के बीच केवल तीन व्यक्ति बैठते हैं। O औि H के साले के बीच बैठे 

व्यक्तिय ों की सोंख्या I औि L के बीच बैठे व्यक्तिय ों की सोंख्या से एक अढिक है, ज  H के तत्काल 

िाईों ओि बैठा है। B, L का बच्चा है औि उसका क ई भाई-बहन नही ों है। ज  L का पढत है वह J 

के िामाि के बाएों  से चौथे स्थान पि बैठता है A, T के बाएों  छठे स्थान पि बैठा है औि H का भाई 

है। T औि N के ढपता के बीच केवल एक व्यक्ति बैठा है। T, B की पुत्रविू है। A, I का ससुि है। 

A के बाएों  उतने ही व्यक्ति बैठे हैं ढजतने J के िाएों  बैठे हैं। 
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PUZZLE 02 

Seven persons - L, M, N, O, P, Q and R live on seven different floors of a 

seven-storey building where the lowermost floor is numbered one and 

the floor immediately above it is numbered two and so on. Each of them 

joined a company in different years. No two persons joined in the same 

year and no one joined after 2004.  

The one who joined the company in 1989 lives three floors above M. Only 

one person lives between M and L, who doesn’t live above the fourth 

floor. The number of floors above L is one more than the number of floors 

below R. The difference between the years in which the one who lives on 

the topmost floor and R joined the company is 16 years. Only four floors 

are between the one who joined in 1995 and Q, who didn’t join in 1989. 

As many floors above Q as below N, who joined three years after P. The 

difference between the years in which the one who lives immediately 

below N and N joined the company is 6 years. There is a gap of seven 

years between the years in which P and L joined the company. The 

difference between the years in which O and M joined the company is 22 

years. One of the persons joined the company in 1982. 
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सात व्यक्ति - L, M, N, O, P, Q औि R एक सात मोंढजला इमाित की सात अलग-अलग मोंढजल ों 

पि िहते हैं, जहाों सबसे ढनचली मोंढजल क  एक नोंबि ढिया गया है औि उसके ठीक ऊपि की 

मोंढजल क  ि  नोंबि ढिया गया है औि इसी तिह आगे भी। उनमें से प्रते्यक अलग-अलग वर्षों में 

एक कों पनी में शाढमल हुए। एक ही वर्षष में ि  व्यक्ति शाढमल नही ों हुए औि 2004 के बाि क ई 

भी शाढमल नही ों हुआ। 

1989 में कों पनी में शाढमल ह ने वाला व्यक्ति M से तीन मोंढजल ऊपि िहता है। M औि L के बीच 

केवल एक व्यक्ति िहता है, ज  चौथी मोंढजल से ऊपि नही ों िहता है। L के ऊपि मोंढजल ों की सोंख्या 

R के नीचे मोंढजल ों की सोंख्या से एक अढिक है। ढजन वर्षों में सबसे ऊपिी मोंढजल पि िहने वाले 

व्यक्ति औि R कों पनी में शाढमल हुए, उनके बीच का अोंति 16 वर्षष है। 1995 में शाढमल ह ने वाले 

व्यक्ति औि Q, ज  1989 में शाढमल नही ों हुआ, के बीच केवल चाि मोंढजलें हैं। P औि L के कों पनी 

में शाढमल ह ने के वर्षों के बीच सात वर्षों का अोंति है। O औि M के कों पनी में शाढमल ह ने के 

वर्षों के बीच का अोंति 22 वर्षष है। व्यक्तिय ों में से एक 1982 में कों पनी में शाढमल हुआ था।            

 

 

 

 

 

 

 

 

 

 

 

 

https://t.me/Exam_Genius_Official
https://youtube.com/@EDIFYwithVijju?si=JpD3hBZ52A-2eKUc
https://www.instagram.com/exam_genius?igsh=MWh5d2Zod2k0NDJqMA==


 

 
 

REASONING MAINS GENIUS FOR ALL BANK & INSURANCE MAINS EXAM 

PUZZLE 03 

Nine persons - A, B, C, D, E, F, G, H and I travelled to Mumbai by three 

different type of vehicles viz., Flight, Train and Bus. Each of them paid 

different amount of money for their travel. 

 Note: At least two persons not more than four persons travelled by the 

same type of vehicle. If P and the one who paid 500 rupees travelled in 

the same vehicle, then P didn’t pay 500 rupees.  

H and the one who paid 350 rupees travelled by the same type of vehicle. 

H and A, who paid 250 rupees travelled by different type of vehicles. Only 

one person travelled by the same type of vehicle as A, who did not travel 

by bus. C paid 250rs more than A and travelled neither by bus nor by the 

same type of vehicle as A. B and D travelled by the same type of vehicle 

but not by the same type of vehicle as C. B paid 100rs more than C and D 

paid 100rs less than C. F and I, who paid 50rs more than D, travelled by 

the same type of vehicle. I and B did not travel by the same type of 

vehicle. The one who paid 600 rupees and G travelled by the same type 

of vehicle. G paid the average amount of money paid by B and C. The 

total amount paid by the people who travelled by train is 1600 rupees. E 

paid 350rs more than G. 

 

 

 

 

 

 

 

https://t.me/Exam_Genius_Official
https://youtube.com/@EDIFYwithVijju?si=JpD3hBZ52A-2eKUc
https://www.instagram.com/exam_genius?igsh=MWh5d2Zod2k0NDJqMA==


 

 
 

REASONING MAINS GENIUS FOR ALL BANK & INSURANCE MAINS EXAM 

नौ व्यक्ति - A, B, C, D, E, F, G, H औि I तीन अलग-अलग प्रकाि के वाहन ों अथाषत फ्लाइट, 

टर ेन औि बस से मुोंबई गए। उनमें से प्रते्यक ने अपनी यात्रा के ढलए अलग-अलग िाढश का भुगतान 

ढकया। 

न ट: कम से कम ि  व्यक्ति, अढिकतम चाि व्यक्ति एक ही प्रकाि के वाहन से यात्रा किते हैं। 

यढि P औि 500 रुपये िेने वाला व्यक्ति एक ही वाहन में यात्रा किते हैं, त  P ने 500 रुपये नही ों 

ढिए। 

H औि 350 रुपये िेने वाला व्यक्ति एक ही प्रकाि के वाहन से यात्रा किते हैं। H औि A, ढजसने 

250 रुपये का भुगतान ढकया, ढवढभन्न प्रकाि के वाहन ों से यात्रा किते हैं। केवल एक व्यक्ति ने A 

के समान प्रकाि के वाहन से यात्रा की, ज  बस से यात्रा नही ों किता था। C ने A से 250 रुपये 

अढिक का भुगतान ढकया औि न त  बस से औि न ही A के समान प्रकाि के वाहन से यात्रा की। 

B औि D ने एक ही प्रकाि के वाहन से यात्रा की, लेढकन C के समान प्रकाि के वाहन से नही ों। B 

ने C से 100 रुपये अढिक का भुगतान ढकया औि D ने C से 100 रुपये कम का भुगतान ढकया। 

F औि I, ढजन् ोंने D से 50 रुपये अढिक का भुगतान ढकया, एक ही प्रकाि के वाहन से यात्रा की। 

I औि B ने एक ही प्रकाि के वाहन से यात्रा नही ों की। ढजसने 600 रुपये का भुगतान ढकया औि 

G ने एक ही प्रकाि के वाहन से यात्रा की। G ने B औि C द्वािा भुगतान की गई औसत िाढश का 

भुगतान ढकया। टर ेन से यात्रा किने वाले ल ग ों द्वािा भुगतान की गई कुल िाढश 1600 रुपये है। E 

ने G से 350 रुपये अढिक का भुगतान ढकया। 
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ANSWER 

PUZZLE 01 

 

 

 

 

 

PUZZLE 02 

 

 

 

 

 

 

PUZZLE 03  

 

 Flight Train bus 
Person(money 
paid) 

A-250 
E-900 

H-300 
C-500 
F-350 
I-450 

B-600 
D-400 
G-550 
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BLOOD RELATION 

A ! B means A is the son of B  

A = B means A is the brother of B  

A + B means A is the mother-in-law of B  

A $ B means A is the sister-in-law of B  

A # B means A is the daughter of B  

A ~ B means A is the father-in-law of B  

A % B means A is the mother of B  

A * B means A is the grandmother of B  

A ^ B means A is the brother-in-law of B  

A & B means A is the father of B  

A @ B means A is the spouse of B  

A Ω B means A is the grandson of B 

1) If PΩR&Y; Q&E#W; E%T=Y@U%P then, how is P related to W?  

a) Grandson  

b) Son’s grandson  

c) Son-in-law  

d) Daughter’s grandson  

e) Grand-daughter’s son  

2) If A%S^D@F; G!D%H; S!J&F then, how is H related to S?  

a) Niece  

b) Granddaughter  
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c) Nephew  

d) Grandson  

e) Cannot be determined  

3) If Z~X=B#N; A%B$K#C+X; K%VΩN, then how is N related to K?  

a) N!K  

b) N^K  

c) N~K  

d) N@K  

e) N%K  

4) If P+N&Q@E; L&M+E%G; F=G#Q, then how is F related to M?  

a) Grandson 

b) Son’s daughter-in-law  

  c) Granddaughter  

  d) Daughter’s son  

  e) Nephew  

5) If R#H=I^T; DΩT@H~M; R+N@X=D!M, then how is T related to X?  

    a) T%X  b) T*X  c) T^X d) T#X  e) T$X 

 

 

 

 

https://t.me/Exam_Genius_Official
https://youtube.com/@EDIFYwithVijju?si=JpD3hBZ52A-2eKUc
https://www.instagram.com/exam_genius?igsh=MWh5d2Zod2k0NDJqMA==


 

 
 

REASONING MAINS GENIUS FOR ALL BANK & INSURANCE MAINS EXAM 

DIRECTION-DISTANCE 

A@B(13m) means A is 13m north of B  

A#B(11m) means A is 11m south of B  

A$B(22m) means A is 22m east of B  

A%B(9m) means A is 9m west of B  

A®B means B moves in west direction to reach A 

AΩB means B moves in east direction to reach A 

A©B means B moves in north direction to reach A  

A£B means B moves in south direction to reach A  

For example: A£B (12m) means point B movies in south direction for 12m to 

reach point A  

Q: A%B(6m); C£B(12m); F@G(4m); D#E(8m); GΩH(7m); E®F(5m); H#I(10m); 

DΩC(5m); J®I(3m)  

1.What is the direction of point J with respect to point F?  

a) Northeast  

b) Northwest  

c) Southwest  

d) Southeast  

e)Cannot be determined  

2. Four of the following five pairs of points are alike in a certain way based on 

the directions in the given arrangement and thus form a group. Which one of 

the following does not belong to the group?  

a) GA  

b) DB  
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c) AC  

d) GE  

e) EB  

3. What is the shortest distance and direction of point B with respect to point 

D?  

a) 3m @%  

b) 4m @$  

c) 15m #$  

d) 13m @%  

e) 16m#%  

4. If point Y is to the west of point H and to the north of point C, then what is 

the shortest distance between point A and point Y?  

a) 10m 

b) 16m  

c) 12m  

d) 13m  

e) 8m  

5. Which of the following three points make a straight line?  

a) ABE  

b) EFH  

c) DEI  

d) HGF  

e) JBC 
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ANSWER 

BLOOD RELATION 

Directions (1-5):  

1) Answer: D 

  

 

 

 

2) Answer: E  

 

 

 

 

 

3) Answer: C  

 

 

 

 

4) Answer: A 
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5) Answer: B 

 

 

 

 

DIRECTION-DISTANCE 

1. Answer: B  

2. Answer: C 

3. Answer: D 

4. Answer: A  

5. Answer: E 
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